LOCTITE.

LOCTITE® 4061 ™

2020 12
15 50
LOCTITE® 4061™ 5 15
VS.
( ) LMS
- VS.
LOCTITE® 4061™
VS.
1ISO-10993
LOCTITE® 4061™ ISO 10993 o 100
% 60%RH //”’
q Y 20%RH
v 75 /
s
2 e
@ 50 / / //
g 25 e 20%RH
@25°C 1.05 s //
, Brookfield - LVF, 25 °C, mPa-s (cP): X 0
1, 60 rpm 10 30+ 0 10 20 30 40 50 60
. SDS Cure Time, seconds
22°C 24
24 / :
, 80x10°
vs. ISO 11359-2, K-
o 0 ,1S0O 8302, 0.1
22 °C /50 % Wi K)
,ASTM E 228, °C 120
0.1 N/mm?
() 10 20 '/ , IEC 60250:
2 10 0.1 kHz 2.65/<0.02
30 90 1 kHz 2.75/<0.02
<5 10 kHz 2.75/<0.02
<5
ABS 2 10
PVC 2 10

400-821-2567



TDS LOCTITE® 4061™, 2020 12

, IEC 60093, Q-cm
, IEC 60093, O

IEC 60243-1, kV/mm

22°C 24
« )
« )
ABS
PVC
, 180 6922:
« )
22°C 10
,1S0 6922:
22°C 1
, 1SO 4587:

)

N/mm?2
(psi)
N/mm?2
(psi)
N/mm?
(psi)
N/mm?
(psi)
N/mm?2
(psi)
N/mm?
(510
N/mm?2
(psi)
N/mm?
(psi)
N/mm?
(psi)

N/mm?
(psi)

JN/mm?

(psi)

N/mm?
(psi)

10x10"
10%x10"®
25

18 26
(2,610
11 19
(1,595
6 14
(870
4 6
(580
4 6
(580 870)
3.5 4.5(psi)
655)
5 15
(725
5 15
(725
5to 15
(725

3,770)
2,755)
2,030)

870)

2,175)
2,175)
2,175)
12 25
(1,740

5 15
(725  2,175)

3,625

26.9LMS
(21,000)

100

——
3) \
o
N /5
N
® \
£ 50 N\
<]
c
g \
»w 25
2
0
0 50 100 150
Temperature, °C
22 °C
1004
60°C
o ———
:\‘ 75 80 °C
N
® \
£ 50
=)
: o
g 100 °C
0 25
2
0
0 1000 2000 3000 4000 5000
Exposure Time, hours
/
22 °C
% of initial strength
°C 100 h 500 h 1000 h
(MIL-L-46152) 40 100 100 95
22 100 100 100
/ 50/50 22 100 100 100
22 100 100 100
22 100 100 100
TA 22 100 100 100
/ 95% RH 40 80 75 65
/ 95% RH 40 100 100 100
(
Loctite® 4061™
EtO (2550 )
LOCTITE® 4061 ™
Loctite®

400-821-2567




TDS LOCTITE® 4061™, 2020 12

/
(SDS)
1.
2. (0.05 mm)
3. Loctite Henkel Belgium NV, Henkel Electronic Materials
NV, Henkel Nederland BV, Henkel Technologies France
Lms SAS and Henkel France SA :
LMS 2002 11 01
LMS
Henkel Colombiana, S.A.S.
2 °C 8 °C 2 °C 8°C

Henkel Corporation, or Henkel Canada Corporation
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kV/mm x 25.4 = V/mil
mm / 25.4 = inches
um/ 25.4 = mil
Nx0.225=1b

N/mm x 5.71 = Ib/in
N/mm?2 x 145 = psi
MPa x 145 = psi

N-m x 8.851 = Ib-in
N-m x 0.738 = |b-ft
N-mm x 0.142 = 0z'in
mPa-s = cP
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